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DATA BASE MANAGEMENT SYSTEM
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fratfaawa: 12 er ) [Afapaw 3% : 30
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Mz () I A Eud g T 1 HEFE |
Note : All Questions are compulsory and each question is of 1 mark.
(ii) 3 st § s @7 @ Regfy o sigsit srars gt A 8

Only English version is valid in case of difference in both the languages.

1. SR H RS § e 2 1. What does the expanded form of
@) o . 3 DBMS ?

(b) Tefrear et wFfesoT yored (a) Database Management System
(b) Digital Base Mapping System

© %vzl woH wgEd e (c) Database Manipulation Software
SRS (d) Data Borrowing and Movement
(d) 2 MW AW gaR= JieaE Software
o . A 2. Which of the following is not true of
2. = # @ st g wEmA % foo the  traditional  approach  to
TR SRe H ga T Y information processing ?
5 B it (a) There is common sharing of
@ =& ¥ o = data among the various
3 R ¥ applications.
(b) TT EEA G (ANBRIE) ¢ | (b) Ttis file oriented.
© s wEe W AR @ E (c) Programs are dependent on the
files.
(d) FF T (erien T & | @ Itis inflexible.
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WRAE  HIGNH 3t
F S ga=EE § |

(a) SEiuHTE, STEE

(b) AR HwHI, TTRA

(c) ey, ITENTERIA

(d) SR BRI, ST

T 0T T &
() sTTIT

(b) TS iR B
©) fepis fat
(d) IR wf

% WRY § e & s W § A"
Tl gRT T

(a) SoiEg @

(b) AeaH @

(c) Heum (Rt =

(d) SR @

Fang vieer i wef H e T S ¥
() s ()

(1) et (@R F s Hey
(D) wens (e & o (e
(IV) S ey

(@) I3RT

() LUV

(¢ I II3RIV

(@ L II3RII

o AT SRE ¥, UH T e (@A
o) v s

(a) Td (b) 3I=ER
(c) sEmEsEE (d) FA

o (e ST §

(a) U T (U F O
(b) T THE (TR F AR
(©) (a) 3R () A TE
(d) (a) 3R (b) T TwRE |

@
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The database administrator is, the
coordinator between the and

the

(a) DBMS, database

(b) Application program, database
(c) Database, users

(d) Application Programs, users

A schema describes

(a) Data elements

(b) Records and files

(c) Record Relationships
(d) All of these

A top to bottom relationship among
the items in a database is established
by

(a) Hierarchical schema

(b) Network schema

(c) Relational schema

(d) All of the above

The ER model is expressed in terms
of

I.  Entities

II. The relationship among entities
III. The attributes of the entities

[V. Functional relationship

(a landIll

(b) LIlland IV

(¢ ILHIandIV

(d) LIllandII

In an ER diagram, an entity set is
represented by a

(a) Rectangle (b) Ellipse

(¢) Diamondbox (d) Circle

Attributes refers to

(a) The properties of an entity

(b) The names of an entity

() Both (a) and (b) are correct
(d) Both (a) and (b) are wrong
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12.

13.

14.

F TR (G ¥ foe urifie e
(a) U IWER F2Le) Foht
(b) forett ot fermten

() U S Tevteen

d) THAHG TR

1 % A % us Q At faganat
¥ UH 91 TF § A G aferwet &
F% Proianall & 9 G €, @S9
FREQ FETUHA TSR

(a) & U TE

b) R Fws

(c) T e F fow o

(@) R Ffomwss

u wauwe (Reteer) Tise |, dedl &

wq § el S €

(@) T (b) T =)
(¢ == (d) sl
T FME ?

(a) TF ASuTEg # UF qferH &
fere w3 A

(b) TF A A fuf= oo w
et it il & fore e S AW

(¢) TF URE W U TeRW At |
s

@ uw fadwan (dfegp) w R
HE F U e

T el (G nieh) & Ame §
et it & Tl ¥

(a) ovETRT (}F) T

() A ,

(© (a) 3 (o) T

(d) =EAR

10.
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12.

13.

14.
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A primary key for an entity is
(a) A candidate key

(b) Any attribute

(c) A unique attribute

(d) A secondary key

When more than one attribute of a
table are related with many attributes
of one or more other tables, then such
a relationship is known as

(a) one to one relationship

(b) many to many relationship

(c) many to one relationship

(d) one to many relationship

In a relational model, relations are
termed as

(a) Tuples

(b) Attributes

(c) Tables

(d) Rows

What is a ‘Tuple’ ?

(a) Another name for a table in an
RDBMS.

(b) Another name for the key
linking different tables in a
database.

(¢) A row or record in a database
table.

(d) An attribute attached to a
record.

In case of entity integrity the primary
key may be

(a) Notnull

(b) Null

(c¢) Both (a)and (b)

(d) Any value

Relational calculus is a

(a) Procedural language

(b) Non-procedural language
(c) Data-Definition language
(d) High level language

P.T.O.
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20.

gavws (Fevre) domve § S

g fetee 2emd oo & fow
H T AT B (AT W) T&@E 9=
AR ?

(@ 2NF (b)
(c) 4NF d)

felar@igan THAY
(@ 3NF (b) 2NF
(c) 4NF (d) BCNF

frfafaad S P wrwd ¥ 2

(a) U Gay St 3NF ® € 9t BCNF #
TR AT |

(b) UF Gy S BCNF # ¥ 9 3NF |
FOMEAE |

(c) BCNF 3T 3NF @it @& ¥ S ¥ |

(d) T Wy St BCNF # & at 2NF #
AEARFTIINFATE L |

tiese & 9 ° SgaH O i @
{6 T 9T Sig &t TR 2

(a) 2NF (b) 3NF

(c) 4NF (d S5NF

f 4 @ 39 1 it T8 fea s

el € 2

(a) A WiRAA JiE F RO
Eikic il

(b) TR FTEAW I F RO P
o T o

(c) TR FEAAT AR Wiwead qfe A
& srafe o s/ = ™ &
vt f T o

(@ ;mar((aﬁamaamaraﬂfa@m

|

SNF
3 NF
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Cartesian product in relational
algebra is
(a) A Unary Operator

(b) A Binary Operator
(¢) A Ternary Operator

(d) Not defined

Which of the normal form 1s
considered adequate for normal
relational database design ?

(8 2NF (b) S5SNF

(c) 4NF (d) 3NF

A function that has no partial
functional dependencies are in

form :

(a) 3NF (b)
(c) 4NF d

2 NF
BCNF

Which of the following is true ?

(a) A relation in 3NF is always in
BCNF.

(b) A relation in BCNF is always in
3 NF.

(¢) BCNF and 3NF are totally
different.

(d) A relation in BCNF is in 2NF
but not in 3NF.

Multivalued dependency among
attribute is checked at which level ?
(a) 2NF (b) 3NF
(c) A4NF (d) SNF

Which of the following can not be

restored ?

(a) Transaction aborted due to
Software error.

(b) Transaction aborted due to
Hardware error.

(¢) Transaction aborted due to
Hardware and Software error
that was created by internal
logic.

(d) Observable external writes.
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st v g Yy foan s &
(a) VI T (FNRATE) T AGH
(b) T U TTH

(¢c) Tt vy o
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(b) TTRA W WH
(¢ fwadl vey= wes
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(a) UH iwfen fawen hw F Aw 4
s |

(b) feu o % mwer # BIgH |

(c) Tt = fawer & mmet d
BIgHT |

(d) AT, T o fF TR Rt e R
A o famear € |

frfefed 9 & #9 w ghewm st 4%
ghfvea s ¥ 5 yonelt o Tty
(Feeiien) FaTm | Yo T& S 2

(a) TR AT

(b) TROY W UA T IR ager

(
(©) (a) 3 (b) I
(d THIFE

UH TEY U§YH vowel H o
Wit ¢
(a) gmam%nﬁrﬂagﬁ
|
(b) T YN & AR TH LAY H
ity % T TR o el
(Frepartt) uieiaiet |
(c) Towew wim %A ¥ forg < =i
fopar ma 3 |
(d) @Y H g @
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Atomicity is ensured by the
component

(a) Observable External Writer.

(b) Transaction Management Component.
(¢) Recovery Management Component.

(d) Concurrency Control Component.

Isolation is ensured by the component

(a) Observable external writer

(b) Transaction Management
Component

(¢) Recovery Management
Component

(d) Concurrency Control Component

Amongst the ACID properties, of a

transaction, the durability property

requires that the change made to the

database by a successful transaction

persist.

(a) Except in case of an operating
system crash.

(b) Except in case of disk crash.

(c) Except in case of power failure.

(d) Always, even if there is a
failure of any kind.

Which of the following approach
ensures that the system will never
enter a deadlock state ?

(a) Deadlock Prevention

(b) Deadlock Detection and Recovery
(¢) Both (a) and (b)

(d) None of the above

Two phase protocol in a Database

Management System is

(@ A concurrency mechanism that
is not deadlock free.

(b) A recovery protocol used for
restoring a database after a crash.

(¢) Any update to the system log
done in two-phases.

(d) Not effective in database.

P.T.O.
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The concept of locking can be used to
solve the problem of

(a) Lostupdate

(b) Uncommitted dependency

(c) Inconsistent data

(d) All of these

Which of the following statement is

wrong ?

(a) Two phase locking protocol
suffers from deadlocks.

(b) Time stamp protocol suffers
from more abort.

(c) Time stamp protocol suffers
from cascading roll backs where
as two phase locking protocol
do not.

(d) None of the above.

Which of the following is true for two

phase locking ?

(a) Lock acquisition in the second
phase.

(b) Locks can be acquired at any
time.

(c) Locks are acquired in the first
phase.

(d) None of the above.

Which of the following approach
avoids starvation ?

(a) Wound-wait scheme
(b) Wait-die scheme

(c) Both(a)and (b)

(d) None of the above

Which of the following is an

advantage of the database approach ?

(a) Elimination of the data
redundancy.

(b) Ability of associate related data.

(¢) Program/data independence.

(d) Al of these.
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T () HeEw e sfErE & o A | Rl afe @ gy T |
Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(i)  TRF 5T & @i a5 FHAR G HI & BT |
Solve all parts of a question consecutively together.
(iii) TR v B 73 g5 @ TR BT |
Start each question on a fresh page.
(iv) a9t arrsT F gra @i = Ferfy & sigsht s @ W & 1
Only English version is valid in case of difference in both the languages.

L () veRy e, T o d 54 s e
How Database system differs from File system ?
(i) HRA it i ufewia S |
Define Foreign key.
(iii) ST e = 81kt ® 2
What is Join dependency ?
(iv) St AR R g A W € ?
What do you mean by Shadow paging ?
(v) e P ¥ et < o % m fafee

Give names of any two techniques for concurrency control. (2x5)

2. () faf TR ¥ SR Hisel B queEy |
Explain various types of detabase models.
(ii) Rt o1 et e ifvehet et Sreus=al § 1 <Ay |
Differentiate between physical data independency and logical data mdependcncy (6+6)

) P.T.O.
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3.

) Faf=r T & AR Saeew i s #
Describe various types of mapping constraints.

(ii) fofry fwal § A, deie @ geEeE g o fegel @ afefaa e g
T ¥ ER-Fa Yaifea T @ e # o
Draw & explain an ER-diagram for college including admission in various
courses, teaching, library and other points. (6+6)

(i) i WHIC & SRt SRE2= t I Wik e F |
Explain various types of integrity constraints with example.
(i) W oye feddlt =t SET0T Wied THART |
Explain multi valued dependency with example. 8+4)

(i) TSt % TUrET H GEEd |
Explain the properties of transaction.
(i) DDBMS % fafir= em fafiag |
Write various advantages of DDBMS. (6+6)

() Sooi giea g & HevaqUr HROT € 2
What are the important reasons for Deadlock occurrence ?
(i) Zrew LT vidiwiet H IR |

Explain time-stamping protocol. (6+6)

< JAIRT
Differentiate between :
(i) o Rl S S
Lossless and Lossy Join Decomposition
(i) & T i T 9
Two tier and Three tier architecture (6+6)

fafefas w ke froafort fefa -
Write short notes on the following :
() feme 2 % e
Strict two phase locking
(i) @ amafia Rt
Log based recovery
(iii) wrafae it
Composite Key 4x3)

‘s



